EARAROBEEIERT — 2 N— IBISH —F

20129F4A3H (X) 1HEHEIA

BSR4k C3= ESRE R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
118lg | IT7TVLINTTIL #5 | pEET 1:(3_1).2 6-6-6-3 |39.1| — | 5 | 474 %l;%;z (Em)
V121> BITYLTILFIR #3) BE R
— F— . 31— o] - HEB_(7h)
2l7|8| PLEaY Ty b "4 o e R e ? ?_?) HERT
LhWsx4Fv— B:7>Va HH Btk
- — e . 9-7- - @7
31717 S—=FwINTIL #5 5%_0 1('33/]4)4 $975 | %84 1 (4:377) all=F]
YW K—A BT+ —T4TA [ ziEse]
o - HeE :32. -0 . - ioEE (FEk)
4 3| R ZFEL 4 6 Eebire 1 (342)0 2-2-2-2 | 41.0 4 (4_312) ol
Y= I7F— B:7HeST— F& #RE
o > PIAED :32. ~4-5- . — IEH (Faf)
5 4| T—NNFY R t> 5 LS 1(13/22; 5-4-5-4 | 40.7 7 :&132) Jlg\ﬁ‘ﬂk%
Lib=>NFy K BR-F210 HHEEE
SRTIAIE 9 | PHESEL 1:32.2 7-7-8- 4| - 475 | BRREX ()
N e # s (33/4) 8-8 |39 9 (_55) /J\iEIEm
RL:N—7)—=YI> b B:HA49>T 7R BN
N _ K . 4 _ FREE (TEH)
IR EEE =P P it 6 B 1.(342).9 4-4-4-6 | 41.5 3 :?g) ETJELH\YEH
Z:va7x BiALICRLAL J=HFrTr—LI
o= N o IRAFIH : -8-9- — IRFSER (FEHH)
8l5|5 | ANTHFIA I8~ i 5 s 1.(354).2 8-8-9-9 | 40.6 6 :5322) pal
L:RFpR—HT—ILK B:TYITLLF1— ALK
. . s 5 | EEERE— 1:34.3 1-1-3-7 | 43.3| — 8 429 | WHE (Fh)
9 2 FFITFXF3 5‘1:4.0 (1/2) ) (#%) 77— REY 3>
R:AxyOs47> BEHIYLT— ng r—
3 2 o4 | REFR 1:37.2 10-10-10-10| 42.6 | — 10 | 485 |#®E—F (ki)
tofgy 6| 7R -7 5.0 (51%) (3 | #®) Tr—xhEvar
R:TZv k=0 B:aAXFATHFAT ERRT7—L
® 1—F—@EBIERL
1T=7r= 2,3,8,1,4,9,10,5,7,6
2d—F— 2,3,8,(1,4),9,10,5,7,6
Ja=5= 8,3,2,1,4,9,7,10,5,6
43—+ — 8,3,9,4,7,1,2,10,5,6
[ /N
B 9 1,130 714K 8-9 590 e E 7-8 760M JEE 7-8-9 3,670
B B 9 250H 7-9 950M B = 8-9 1,770M EE 9-8-7 35,780
8 130H4 7-8 320M B H 9-8 6,630M
7 1509

ABICOVWTRDTEEERROODE. TR LIV,




